Quiz 2

Name: Student Number:
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1. (2 marks) Express the vector r in the form r = (x, y). In each case the vector has a length of
2 units.
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2. (4 marks) A dog walks north 2 km. She then turns 30° towards the east and runs 3 km.
What is the dog’s displacement?
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3. A bullet is fired from a cliff of height 100 meter at a 45° angle with respect to the horizontal.

The initial speed of the bullet is 250 m/sec.
a) (2 marks) How long does it take for the bullet to hit the ground?
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b) (2 marks) Where does the bullet hit the ground?
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Total = 10 marks



